

## A CLASS OF DEFINITE INTEGRALS INVOLVING GENERALIZED HYPERGEOMETRIC FUNCTIONS

Prathima Jayarama and Arjun Kumar Rathie

ABSTRACT. Recently Masjed-Jamei and Koepf obtained generalizations of various classical summation theorems for the  ${}_2F_1$ ,  ${}_3F_2$ ,  ${}_4F_3$ ,  ${}_5F_4$  and  ${}_6F_5$  generalized hypergeometric series. We evaluate a new class of integrals involving generalized hypergeometric function by employing the results given by Masjed-Jamei and Koepf and MacRobert integral, and we give several special cases.

### 1. Introduction

In mathematics, the Gaussian or ordinary hypergeometric function  ${}_2F_1$  is a special function represented by the hypergeometric series, that includes many other special functions as specific or limiting cases.

The Gauss hypergeometric function is defined by [1, 3, 11, 12, 14]

$${}_2F_1 \left[ \begin{matrix} \lambda, & \mu \\ \rho \end{matrix}; \zeta \right] = \sum_{k=0}^{\infty} \frac{(\lambda)_k (\mu)_k}{(\rho)_k} \frac{\zeta^k}{k!} \quad (|\zeta| < 1, \rho \neq 0, -1, -2, \dots)$$

and confluent hypergeometric function is defined by [1, 3, 11, 12, 14]

$${}_1F_1 \left[ \begin{matrix} \lambda \\ \rho \end{matrix}; \zeta \right] = \sum_{k=0}^{\infty} \frac{(\lambda)_k}{(\rho)_k} \frac{\zeta^k}{k!}$$

which converges everywhere. Both the above functions are the special cases of the generalized hypergeometric function with  $r$  numerator and  $s$  denominator parameters defined by [1, 3, 14–17]

$$(1.1) \quad {}_rF_s \left( \begin{matrix} \lambda_1, & \dots, & \lambda_r \\ \mu_1, & \dots, & \mu_s \end{matrix}; \zeta \right) = \sum_{k=0}^{\infty} \frac{\prod_{i=1}^r (\lambda_i)_k}{\prod_{i=1}^s (\mu_i)_k} \frac{\zeta^k}{k!}$$

---

2020 *Mathematics Subject Classification*: Primary 33C20; Secondary 33C05; 65B10.

*Key words and phrases*: Gauss's hypergeometric function, Kummer function, classical summation theorems, MacRobert integral.

Communicated by Gradimir Milovanović.

where  $(\lambda)_k$  denotes the well known Pochhammer symbol [5] for any complex number  $\lambda$  defined as

$$(1.2) \quad (\lambda)_k = \frac{\Gamma(\lambda + k)}{\Gamma(\lambda)} = \begin{cases} 1 & (k = 0, \lambda \in \mathbb{C} \setminus \{0\}) \\ \lambda(\lambda + 1) \cdots (\lambda + k - 1) & (k \in \mathbb{N}, \lambda \in \mathbb{C}), \end{cases}$$

where  $\Gamma(\zeta)$  is the well known gamma function defined by  $\Gamma(\zeta) = \int_0^\infty e^{-x} x^{\zeta-1} dx$  provided  $\text{Re}(\zeta) > 0$ . Further by the ratio test [1, 2] it can be easily verified that series (1.1) is convergent for all  $r \leq s$ . Also it converges in  $|\zeta| < 1$  for  $r = s + 1$ , converges everywhere for  $r < s + 1$  and converges nowhere ( $\zeta \neq 0$ ) for  $r > s + 1$ .

Further, if  $r = s + 1$ , it converges absolutely for  $|z| = 1$  provided

$$\delta = \text{Re} \left( \sum_{j=1}^s \mu_j - \sum_{j=1}^r \lambda_j \right) > 0$$

holds and is conditionally convergent for  $|\zeta| = 1$  and  $\zeta \neq 1$  if  $-1 < \delta \leq 0$  and diverges for  $|\zeta| = 1$  and  $\zeta \neq 1$  if  $\delta \leq -1$ . For more details, we refer [14].

It is interesting to mention here that, whenever a generalized hypergeometric function reduces to the gamma function, the results are very important from the applications point of view. Moreover here we shall mention the following summation theorems for the series  ${}_2F_1$ ,  ${}_3F_2$ ,  ${}_4F_3$ ,  ${}_5F_4$  and  ${}_7F_6$  so that the paper may be self contained.

1) Gauss Theorem: For  $\text{Re}(\rho - \lambda - \mu) > 0$

$$(1.3) \quad {}_2F_1 \left[ \begin{matrix} \lambda, & \mu \\ \rho \end{matrix}; 1 \right] = \frac{\Gamma(\rho)\Gamma(\rho - \lambda - \mu)}{\Gamma(\rho - \lambda)\Gamma(\rho - \mu)}$$

2) Kummer's Theorem:

$$(1.4) \quad {}_2F_1 \left[ \begin{matrix} \lambda, & \mu \\ 1 + \lambda - \mu \end{matrix}; -1 \right] = \frac{\Gamma(1 + \lambda - \mu)\Gamma(1 + \frac{1}{2}\lambda)}{\Gamma(1 - \mu + \frac{1}{2}\lambda)\Gamma(1 + \lambda)}$$

3) Second Gauss Theorem:

$$(1.5) \quad {}_2F_1 \left[ \begin{matrix} \lambda, & \mu \\ \frac{1}{2}(\lambda + \mu + 1) \end{matrix}; \frac{1}{2} \right] = \frac{\sqrt{\pi}\Gamma(\frac{1}{2}(\lambda + \mu + 1))}{\Gamma(\frac{1}{2}(\lambda + 1))\Gamma(\frac{1}{2}(\mu + 1))}$$

4) Bailey's Theorem:

$$(1.6) \quad {}_2F_1 \left[ \begin{matrix} \lambda, & 1 - \lambda \\ \mu \end{matrix}; \frac{1}{2} \right] = \frac{\Gamma(\frac{1}{2}\mu)\Gamma(\frac{1}{2}(\mu + 1))}{\Gamma(\frac{1}{2}(\lambda + \mu))\Gamma(\frac{1}{2}(\mu - \lambda + 1))}$$

5) Dixon's Theorem: For  $\text{Re}(\lambda - 2\mu - 2\rho) > -2$

$$(1.7) \quad {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & \rho \\ 1 + \lambda - \mu, & 1 + \lambda - \rho \end{matrix}; 1 \right] \\ = \frac{\Gamma(1 + \frac{1}{2}\lambda)\Gamma(1 + \lambda - \mu)\Gamma(1 + \lambda - \rho)\Gamma(1 - \mu - \rho + \frac{1}{2}a)}{\Gamma(1 + \lambda)\Gamma(1 - \mu + \frac{1}{2}\lambda)\Gamma(1 - \rho + \frac{1}{2}\lambda)\Gamma(1 + \lambda - \mu - \rho)}$$

6) Watson's Theorem: For  $\text{Re}(2\rho - \lambda - \mu) > 1$

$$(1.8) \quad {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & \rho \\ \frac{1}{2}(\lambda + \mu + 1), & 2\rho \end{matrix}; 1 \right] \\ = \frac{\sqrt{\pi} \Gamma(\rho + \frac{1}{2}) \Gamma(\frac{1}{2}(\lambda + \mu + 1)) \Gamma(\rho - \frac{1}{2}(\lambda + \mu - 1))}{\Gamma(\frac{1}{2}(\lambda + 1)) \Gamma(\frac{1}{2}(\mu + 1)) \Gamma(\rho - \frac{1}{2}(\lambda - 1)) \Gamma(\rho - \frac{1}{2}(\mu - 1))}$$

7) Whipple's Theorem: For  $\text{Re}(\mu) > 0$

$$(1.9) \quad {}_3F_2 \left[ \begin{matrix} \lambda, & 1 - \lambda, & \mu \\ \rho, & 2\mu - \rho + 1 \end{matrix}; 1 \right] \\ = \frac{\pi 2^{1-2\mu} \Gamma(\rho) \Gamma(2\mu - \rho + 1)}{\Gamma(\frac{1}{2}(\lambda + \rho)) \Gamma(\mu + \frac{1}{2}(\lambda - \rho + 1)) \Gamma(\frac{1}{2}(1 - \lambda + \rho)) \Gamma(\mu + 1 - \frac{1}{2}(\lambda + \rho))}$$

8) Saalschutz's Theorem:

$$(1.10) \quad {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & -k \\ \rho, & 1 + \lambda + \mu - \rho - k \end{matrix}; 1 \right] = \frac{(\rho - \lambda)_k (\rho - \mu)_k}{(\rho)_k (\rho - \lambda - \mu)_k}$$

9) Second Whipple's Theorem:

$$(1.11) \quad {}_4F_3 \left[ \begin{matrix} \lambda, & 1 + \frac{1}{2}\lambda, & \mu, & \rho \\ \frac{1}{2}\lambda, & \lambda - \mu + 1, & \lambda - \rho + 1 \end{matrix}; -1 \right] = \frac{\Gamma(\lambda - \mu + 1) \Gamma(\lambda - \rho + 1)}{\Gamma(\lambda + 1) \Gamma(\lambda - \mu - \rho + 1)}$$

10) Dougall's Theorem: For  $\text{Re}(\lambda - \rho - \alpha - \beta) > -1$

$$(1.12) \quad {}_5F_4 \left[ \begin{matrix} \lambda, & 1 + \frac{1}{2}\lambda, & \rho, & \alpha, & \beta \\ \frac{1}{2}\lambda, & \lambda - \rho + 1, & \lambda - \alpha + 1, & \lambda - \beta + 1 \end{matrix}; 1 \right] \\ = \frac{\Gamma(\lambda - \rho + 1) \Gamma(\lambda - \alpha + 1) \Gamma(\lambda - \beta + 1) \Gamma(\lambda - \rho - \alpha - \beta + 1)}{\Gamma(\lambda + 1) \Gamma(\lambda - \alpha - \beta + 1) \Gamma(\lambda - \rho - \beta + 1) \Gamma(\lambda - \rho - \alpha + 1)}$$

11) Second Dougall's Theorem:

$$(1.13) \quad {}_7F_6 \left[ \begin{matrix} \lambda, & 1 + \frac{1}{2}\lambda, & \mu, & \rho, & \alpha, & 1 + 2\lambda - \mu - \rho - \alpha + k, & -k \\ \frac{1}{2}\lambda, & \lambda - \mu + 1, & \lambda - \rho + 1, & \lambda - \alpha + 1, & \mu + \rho + \alpha - \lambda - k, & \lambda + 1 + k \end{matrix}; 1 \right] \\ = \frac{(\lambda + 1)_k (\lambda - \mu - \rho + 1)_k (\lambda - \mu - \beta + 1)_k (\lambda - \rho - \beta + 1)_k}{(\lambda + 1 - \mu)_k (\lambda + 1 - \rho)_k (\lambda + 1 - \alpha)_k (\lambda + 1 - \mu - \rho - \alpha)_k}$$

For finite sums of hypergeometric series, we will use the following symbol

$${}_rF_s^{(\ell)} \left[ \begin{matrix} \lambda_1, & \dots, & \lambda_r \\ \mu_1, & \dots, & \mu_s \end{matrix}; \zeta \right] = \sum_{k=0}^{\ell} \frac{\prod_{i=1}^r (\lambda_i)_k}{\prod_{i=1}^s (\mu_i)_k} \frac{\zeta^k}{k!},$$

where for instance

$${}_rF_s^{(-1)}(\zeta) = 0, \quad {}_rF_s^{(0)}(\zeta) = 1, \quad {}_rF_s^{(1)}(\zeta) = 1 + \frac{\lambda_1 \cdots \lambda_r}{\mu_1 \cdots \mu_s} \zeta.$$

By using the following relation [13]

$$(1.14) \quad {}_rF_s \left[ \begin{matrix} \lambda_1, \dots, \lambda_{r-1}, & 1 \\ \mu_1, \dots, \mu_{s-1}, & \ell; \zeta \end{matrix} \right]$$

$$\begin{aligned}
&= \frac{\Gamma(\mu_1) \cdots \Gamma(\mu_{s-1})}{\Gamma(\lambda_1) \cdots \Gamma(\lambda_{r-1})} \frac{\Gamma(\lambda_1 - \ell + 1) \cdots \Gamma(\lambda_{r-1} - \ell + 1)}{\Gamma(\mu_1 - \ell + 1) \cdots \Gamma(\mu_{s-1} - \ell + 1)} \frac{(\ell - 1)!}{\zeta^{\ell-1}} \\
&\quad \times \left\{ {}_{r-1}F_{s-1} \left[ \begin{matrix} \lambda_1 - \ell + 1, \dots, \lambda_{r-1} - \ell + 1 \\ \mu_1 - \ell + 1, \dots, \mu_{s-1} - \ell + 1 \end{matrix}; \zeta \right] \right. \\
&\quad \left. - {}_{r-1}F_{s-1}^{(\ell-2)} \left[ \begin{matrix} \lambda_1 - \ell + 1, \dots, \lambda_{r-1} - \ell + 1 \\ \mu_1 - \ell + 1, \dots, \mu_{s-1} - \ell + 1 \end{matrix}; \zeta \right] \right\},
\end{aligned}$$

very recently Masjed-Jamei and Koepf [10] have established generalizations of the classical summation theorems (1.3) to (1.13) in the following form:

$$\begin{aligned}
(1.15) \quad {}_3F_2 \left[ \begin{matrix} \lambda, \mu, 1 \\ \rho, \ell \end{matrix}; 1 \right] &= \frac{\Gamma(\ell)\Gamma(\rho)\Gamma(\lambda - \ell + 1)\Gamma(\mu - \ell + 1)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(\rho - \ell + 1)} \\
&\times \left\{ \frac{\Gamma(\rho - \ell + 1)\Gamma(\rho - \lambda - \mu + \ell - 1)}{\Gamma(\rho - \lambda)\Gamma(\rho - \mu)} - {}_2F_1^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, -\ell + 1 \\ \rho - \ell + 1 \end{matrix}; 1 \right] \right\} = \Phi_1
\end{aligned}$$

$$\begin{aligned}
(1.16) \quad {}_3F_2 \left[ \begin{matrix} \lambda, \mu, 1 \\ \lambda - \mu + \ell, \ell \end{matrix}; -1 \right] &= (-1)^{\ell-1} \frac{\Gamma(\ell)\Gamma(\lambda - \mu + \ell)\Gamma(\lambda - \ell + 1)\Gamma(\mu - \ell + 1)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(\lambda - \mu + 1)} \\
&\times \left\{ \frac{\Gamma(\lambda - \mu + 1)\Gamma(1 + \frac{1}{2}(\lambda - \ell + 1))}{\Gamma(2 + \lambda - \ell)\Gamma(\ell - \mu + \frac{1}{2}(\lambda - \ell + 1))} - {}_2F_1^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \mu - \ell + 1 \\ \lambda - \mu + 1 \end{matrix}; -1 \right] \right\} = \Phi_2
\end{aligned}$$

$$\begin{aligned}
(1.17) \quad {}_3F_2 \left[ \begin{matrix} \lambda, \mu, 1 \\ \frac{1}{2}(\lambda + \mu + 1), \ell \end{matrix}; \frac{1}{2} \right] &= 2^{\ell-1} \frac{\Gamma(\ell)\Gamma(\lambda + \mu + 1)\Gamma(\lambda - \ell + 1)\Gamma(\mu - \ell + 1)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(-\ell + 1 + \frac{1}{2}(\lambda + \mu + 1))} \\
&\times \left\{ \frac{\sqrt{\pi}\Gamma(-\ell + 1 + \frac{1}{2}(\lambda + \mu + 1))}{\Gamma(1 + \frac{1}{2}(\lambda - \ell))\Gamma(1 + \frac{1}{2}(\mu - \ell))} - {}_2F_1^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \mu - \ell + 1 \\ -\ell + 1 + \frac{1}{2}(\lambda + \mu + 1) \end{matrix}; \frac{1}{2} \right] \right\} = \Phi_3
\end{aligned}$$

$$\begin{aligned}
(1.18) \quad {}_3F_2 \left[ \begin{matrix} \lambda, 2\ell - \lambda - 1, 1 \\ \mu, \ell \end{matrix}; \frac{1}{2} \right] &= 2^{\ell-1} \frac{\Gamma(\ell)\Gamma(\mu)\Gamma(\lambda - \ell + 1)\Gamma(\ell - \lambda)}{\Gamma(\lambda)\Gamma(2\ell - \lambda - 1)\Gamma(\mu - \ell + 1)} \\
&\times \left\{ \frac{\Gamma(\frac{1}{2}(\mu - \ell + 1))\Gamma(\frac{1}{2}(\mu - \ell + 2))}{\Gamma(-\ell + 1 + \frac{1}{2}(\lambda + \mu))\Gamma(\frac{1}{2}(\mu - \lambda + 1))} - {}_2F_1^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \ell - \lambda \\ \mu - \ell + 1 \end{matrix}; \frac{1}{2} \right] \right\} = \Phi_4
\end{aligned}$$

$$\begin{aligned}
(1.19) \quad {}_4F_3 \left[ \begin{matrix} \lambda, \mu, \rho, 1 \\ \lambda - \mu + \ell, \lambda - \rho + \ell, \ell \end{matrix}; 1 \right] &= \frac{\Gamma(\ell)\Gamma(\lambda - \mu + \ell)\Gamma(\lambda - \rho + \ell)\Gamma(\lambda + 1 - \ell)\Gamma(\mu + 1 - \ell)\Gamma(\rho + 1 - \ell)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(\rho)\Gamma(\lambda - \mu + 1)\Gamma(\lambda - \rho + 1)} \\
&\times \left\{ \frac{\Gamma(\frac{1}{2}(\lambda + 3 - \ell))\Gamma(\lambda - \mu + 1)\Gamma(\lambda - \rho + 1)\Gamma(-\mu - \rho + \frac{1}{2}(\lambda + 3\ell - 1))}{\Gamma(\lambda + 2 - \ell)\Gamma(-\mu + \frac{1}{2}(\lambda + \ell + 1))\Gamma(-\rho + \frac{1}{2}(\lambda + \ell + 1))\Gamma(\lambda - \mu - \rho + \ell)} \right. \\
&\quad \left. - {}_3F_2^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \mu - \ell + 1, \rho - \ell + 1 \\ \lambda - \mu + 1, \lambda - \rho + 1 \end{matrix}; 1 \right] \right\} = \Phi_5
\end{aligned}$$

$$(1.20) \quad {}_4F_3 \left[ \begin{matrix} \lambda, \mu, \rho, 1 \\ \frac{1}{2}(\lambda + \mu + 1), 2\rho + 1 - \ell, \ell \end{matrix}; 1 \right]$$

$$\begin{aligned}
&= \frac{\Gamma(\ell)\Gamma(\frac{1}{2}(\lambda+\mu+1))\Gamma(2\rho+1-\ell)\Gamma(\lambda+1-\ell)\Gamma(\mu+1-\ell)\Gamma(\rho+1-\ell)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(\rho)\Gamma(-\ell+\frac{1}{2}(\lambda+\mu+3))\Gamma(2\rho-2\ell+2)} \\
&\times \left\{ \frac{\sqrt{\pi}\Gamma(\rho-\ell+\frac{3}{2})\Gamma(-\ell+\frac{1}{2}(\lambda+\mu+3))\Gamma(\rho-\frac{1}{2}(\lambda+\mu-1))}{\Gamma(1+\frac{1}{2}(\lambda-\ell))\Gamma(1+\frac{1}{2}(\mu-\ell))\Gamma(\rho+1-\frac{1}{2}(\lambda+\ell))\Gamma(\rho+1-\frac{1}{2}(\mu+\ell))} \right. \\
&\quad \left. - {}_3F_2^{(\ell-2)} \left[ \begin{matrix} \lambda-\ell+1, \mu-\ell+1, \rho-\ell+1 \\ -\ell+1+\frac{1}{2}(\lambda+\mu+1), 2\rho-2\ell+2 \end{matrix}; 1 \right] \right\} = \Phi_6
\end{aligned}$$

$$\begin{aligned}
(1.21) \quad &{}_4F_3 \left[ \begin{matrix} \lambda, 2\ell-1-\lambda, \mu, 1 \\ \rho, 2\mu-\rho+1, \ell \end{matrix}; 1 \right] \\
&= \frac{\Gamma(\ell)\Gamma(\rho)\Gamma(2\mu-\rho+1)\Gamma(\ell-\lambda)\Gamma(\lambda+1-\ell)\Gamma(\mu+1-\ell)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(2\ell-1-\lambda)\Gamma(\rho+1-\ell)\Gamma(2\mu-\rho-\ell+2)} \\
&\times \left\{ \frac{\pi 2^{2\ell-2\mu-1}\Gamma(\rho-\ell+1)}{\Gamma(-\ell+1+\frac{1}{2}(\lambda+\rho))\Gamma(-\ell+1+\mu+\frac{1}{2}(\lambda-\rho+1))\Gamma(\frac{1}{2}(1-\lambda+\rho))} \right. \\
&\quad \left. \times \frac{\Gamma(2\mu-\rho-\ell+2)}{\Gamma(\mu+1-\frac{1}{2}(\lambda+\rho))} - {}_3F_2^{(\ell-2)} \left[ \begin{matrix} \lambda-\ell+1, \mu-\ell+1, \ell-\lambda \\ \rho-\ell+1, 2\mu-\rho-\ell+2 \end{matrix}; 1 \right] \right\} = \Phi_7
\end{aligned}$$

$$\begin{aligned}
(1.22) \quad &{}_4F_3 \left[ \begin{matrix} \lambda, \mu, -k+\ell-1, 1 \\ \rho, 1+\lambda+\mu-\rho-k, \ell \end{matrix}; 1 \right] = \frac{(\ell-1)!(1-\rho)_{\ell-1}}{(1-\lambda)_{\ell-1}(1-\mu)_{\ell-1}} \\
&\times \frac{(\rho-\lambda-\mu+k)_{\ell-1}}{(k+2-\ell)_{\ell-1}} \times \left\{ \frac{(\rho-\lambda)_k(\rho-\mu)_k}{(\rho+1-\ell)_k(\rho-\lambda-\mu+\ell-1)_k} \right. \\
&\quad \left. - {}_3F_2^{(\ell-2)} \left[ \begin{matrix} \lambda-\ell+1, \mu-\ell+1, -k \\ \rho-\ell+1, 2+\lambda+\mu-\rho-\ell-k \end{matrix}; 1 \right] \right\} = \Phi_8
\end{aligned}$$

$$\begin{aligned}
(1.23) \quad &{}_5F_4 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda+\ell+1), \mu, \rho, 1 \\ \frac{1}{2}(\lambda+\ell-1), \lambda-\mu+\ell, \lambda-\rho+\ell, \ell \end{matrix}; -1 \right] \\
&= (-1)^{\ell-1}\Gamma(\ell) \frac{\Gamma(\frac{1}{2}(\lambda+\ell-1))\Gamma(\lambda-\mu+\ell)\Gamma(\lambda-\rho+\ell)}{\Gamma(\lambda)\Gamma(\mu)\Gamma(\rho)} \\
&\quad \times \frac{\Gamma(\frac{1}{2}(\lambda-\ell+3))\Gamma(\lambda-\ell+1)}{\Gamma(\frac{1}{2}(\lambda+\ell+1))\Gamma(\frac{1}{2}(\lambda-\ell+1))} \\
&\times \frac{\Gamma(\mu+1-\ell)\Gamma(\rho+1-\ell)}{\Gamma(\lambda-\mu+1)\Gamma(\lambda-\rho+1)} \times \left\{ \frac{\Gamma(1+\lambda-\mu)\Gamma(1+\lambda-\rho)}{\Gamma(2-\ell+\lambda)\Gamma(\ell+\lambda-\mu-\rho)} \right. \\
&\quad \left. - {}_4F_3^{(\ell-2)} \left[ \begin{matrix} \lambda-\ell+1, \mu-\ell+1, \frac{1}{2}(\lambda-\ell+3), \rho-\ell+1 \\ \frac{1}{2}(\lambda-\ell+1), \lambda-\mu+1, \lambda-\rho+1 \end{matrix}; -1 \right] \right\} = \Phi_9
\end{aligned}$$

$$\begin{aligned}
(1.24) \quad &{}_6F_5 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda+\ell+1), \rho, \alpha, \beta, 1 \\ \frac{1}{2}(\lambda+\ell-1), \lambda-\rho+\ell, \lambda-\alpha+\ell, \lambda-\beta+\ell, \ell \end{matrix}; 1 \right] \\
&= \frac{\Gamma(\ell)\Gamma(\frac{1}{2}(\lambda+\ell-1))\Gamma(\lambda-\rho+\ell)\Gamma(\lambda-\alpha+\ell)\Gamma(\lambda-\beta+\ell)}{\Gamma(\lambda-\rho+1)\Gamma(\lambda-\alpha+1)\Gamma(\lambda-\beta+1)}
\end{aligned}$$

$$\begin{aligned}
& \times \frac{\Gamma(\lambda - \ell + 1)\Gamma(\frac{1}{2}(\lambda - \ell + 3))\Gamma(\rho + 1 - \ell)\Gamma(\alpha + 1 - \ell)\Gamma(\beta + 1 - \ell)}{\Gamma(\lambda)\Gamma(\rho)\Gamma(\alpha)\Gamma(\beta)\Gamma(\frac{1}{2}(\lambda + \ell + 1))\Gamma(\frac{1}{2}(\lambda - \ell + 1))} \\
& \times \left\{ \frac{\Gamma(\lambda - \rho + 1)\Gamma(\lambda - \alpha + 1)\Gamma(\lambda - \beta + 1)\Gamma(\lambda - \rho - \alpha - \beta + 2\ell - 1)}{\Gamma(2 - \ell + \lambda)\Gamma(\lambda - \rho - \beta + \ell)\Gamma(\lambda - \alpha - \beta + \ell)\Gamma(\lambda - \rho - \alpha + \ell)} \right. \\
& \left. - {}_5F_4^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \rho - \ell + 1, \frac{1}{2}(\lambda - \ell + 3), \alpha - \ell + 1, \beta - \ell + 1 \\ \frac{1}{2}(\lambda - \ell + 1), \lambda - \rho + 1, \lambda - \alpha + 1, \lambda - \beta + 1 \end{matrix} ; 1 \right] \right\} = \Phi_{10} \\
(1.25) \quad & {}_8F_7 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + \ell + 1), \mu, \rho, \alpha, A_1, A_2, 1 \\ \frac{1}{2}(\lambda + \ell - 1), \lambda - \mu + \ell, \lambda - \rho + \ell, \lambda - \alpha + \ell, B_1, B_2, \ell; 1 \end{matrix} \right] \\
& = (-1)^{\ell-1}(\ell-1)! \frac{(\frac{1}{2}(3 - \lambda - \ell))_{\ell-1}(1 - \lambda + \mu - \ell)_{\ell-1}}{(\frac{1}{2}(1 - \lambda - \ell))_{\ell-1}(1 - \lambda)_{\ell-1}} \\
& \quad \times \frac{(1 - \lambda + \rho - \ell)_{\ell-1}(1 - \lambda + \alpha - \ell)_{\ell-1}}{(1 - \mu)_{\ell-1}(1 - \rho)_{\ell-1}(1 - \alpha)_{\ell-1}} \\
& \quad \times \frac{(\ell + k + \lambda - \mu - \rho - \alpha)_{\ell-1}(-\lambda - k)_{\ell-1}}{(\mu + \rho + \alpha - 2\lambda + 2 - 2\ell - k)_{\ell-1}(k + 2 - \ell)_{\ell-1}} \\
& \quad \times \left\{ \frac{(\lambda - \ell + 2)_k(\lambda - \mu - \rho + \ell)_k(\lambda - \mu - \alpha + \ell)_k(\lambda - \rho - \alpha + \ell)_k}{(\lambda - \mu + 1)_k(\lambda - \rho + 1)_k(\lambda - \alpha + 1)_k(\lambda - \mu - \rho - \alpha + 2\ell - 1)_k} \right. \\
& \left. - {}_7F_6^{(\ell-2)} \left[ \begin{matrix} \lambda - \ell + 1, \frac{1}{2}(\lambda - \ell + 3), \mu - \ell + 1, \rho - \ell + 1, \alpha - \ell + 1, A_3, -k \\ \frac{1}{2}(\lambda - \ell + 1), \lambda - \mu + 1, \lambda - \rho + 1, \lambda - \alpha + 1, B_3, B_4 \end{matrix} ; 1 \right] \right\} = \Phi_{11}
\end{aligned}$$

where  $A_1 = 2\lambda - \mu - \rho - \alpha + 2\ell - 1 + k$ ,  $A_2 = \ell - k - 1$ ,  $B_1 = \mu + \rho + \alpha - \lambda + 1 - \ell - k$ ,  $B_2 = \lambda + k + 1$ ,  $A_3 = 2\lambda - \mu - \rho - \alpha + \ell + k$ ,  $B_3 = \mu + \rho + \alpha - \lambda + 2 - 2\ell - k$ , and  $B_4 = \lambda - \ell + k + 2$ .

It is interesting to mention here that for  $\ell = 1$ , results (1.15) to (1.25) reduce to results (1.3) to (1.13) respectively. For other generalizations and extensions of results (1.3) to (1.9), we refer [4, 6–8, 15]. Our aim is to establish eleven new class of integrals involving generalized hypergeometric function by employing summation theorems (1.15) to (1.25) in the following integral due to MacRobert [9],

$$(1.26) \quad \int_0^{\frac{\pi}{2}} e^{i(\psi+\nu)\theta} (\sin \theta)^{\psi-1} (\cos \theta)^{\nu-1} d\theta = e^{\frac{i\pi\psi}{2}} \frac{\Gamma(\psi)\Gamma(\nu)}{\Gamma(\psi+\nu)}$$

provided  $\operatorname{Re}(\psi) > 0$  and  $\operatorname{Re}(\nu) > 0$ .

## 2. Main results

The eleven new classes of integrals involving generalized hypergeometric functions paper are given in the following theorems.

**THEOREM 2.1.** For  $\ell \in \mathbb{N}$ ,  $\operatorname{Re}(\mu) > 0$ ,  $\operatorname{Re}(\rho - \mu) > 0$  and  $\operatorname{Re}(\rho - \lambda - \mu + \ell) > 1$ , the following result holds true.

$$(2.1) \quad \int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\rho-\mu-1} {}_2F_1 \left[ \begin{matrix} \lambda, 1 \\ \ell \end{matrix} ; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\mu)}{\Gamma(\rho)} \Phi_1,$$

where  $\Phi_1$  is the same as given in (1.15).

PROOF. In order to prove result (2.1) asserted in Theorem 2.1, we proceed as follows. Denoting the left-hand side of (2.1) by  $I$ , we have

$$I = \int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\rho-\mu-1} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ \ell \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

Now, expressing  ${}_2F_1$  as a series, change the order of integration and summation (which are easily seen to be justified due to uniform convergence of the series in the interval  $(0, \frac{\pi}{2})$ ), we have

$$I = \sum_{n=0}^{\infty} \frac{(\lambda)_k (1)_k}{(\ell)_k k!} e^{-i\frac{\pi}{2}k} \int_0^{\frac{\pi}{2}} e^{i(\rho+k)\theta} (\sin \theta)^{\mu+k-1} (\cos \theta)^{\rho-\mu-1} d\theta$$

Now evaluating the integral with the help of the MacRobert's integral (1.26), we have

$$I = \sum_{k=0}^{\infty} \frac{(\lambda)_k (1)_k}{(\ell)_k k!} e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu+k)\Gamma(\rho-\mu)}{\Gamma(\rho+k)}.$$

Using the identity  $(\lambda)_k = \frac{\Gamma(\lambda+k)}{\Gamma(\lambda)}$ , we have

$$I = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\mu)}{\Gamma(\rho)} \sum_{k=0}^{\infty} \frac{(\lambda)_k (\mu)_k (1)_k}{(\rho)_k (\ell)_k} \frac{1}{k!}.$$

Finally summing up the series, we have

$$I = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\mu)}{\Gamma(\rho)} {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \rho, & \ell \end{matrix}; 1 \right].$$

Now, we observe that the  ${}_3F_2$  appearing can be evaluated with the help of (1.15) and we easily arrive at the right-hand side of (2.1).  $\square$

COROLLARY 2.1. In Theorem 2.1, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\rho-\mu-1} (1 - e^{i(\theta-\frac{\pi}{2})} \sin \theta)^{-\lambda} d\theta = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\lambda-\mu)}{\Gamma(\rho-\lambda)}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\rho-\mu-1} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ 2 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\mu)}{\Gamma(\rho)} \frac{(\rho-1)}{(\lambda-1)(\mu-1)} \left[ \frac{\Gamma(\rho-1)\Gamma(\rho-\lambda-\mu+1)}{\Gamma(\rho-\lambda)\Gamma(\rho-\mu)} - 1 \right], \end{aligned}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\rho-\mu-1} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ 3 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= 2e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\rho-\mu)}{\Gamma(\rho)} \frac{(\rho-2)_2}{(\lambda-2)_2(\mu-2)_2} \left[ \frac{\Gamma(\rho-2)\Gamma(\rho-\lambda-\mu+2)}{\Gamma(\rho-\lambda)\Gamma(\rho-\mu)} \right. \\ & \quad \left. - \frac{\lambda\mu + \rho - 2\lambda - 2\mu + 2}{(\rho-2)} \right] \end{aligned}$$

The following Theorems 2.2 to 2.11 and the corresponding Corollaries 2.2 to 2.11 can be obtained similarly by employing the results (1.16) to (1.25). Hence, they are given here without proof.

**THEOREM 2.2.** *For  $\ell \in \mathbb{N}$ ,  $\operatorname{Re}(\mu) > 0$  and  $\operatorname{Re}(\lambda - 2\mu + \ell) > 0$ , the following result holds true.*

$$(2.2) \quad \int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+\ell)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu+\ell-1} \\ \times {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ \ell & \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\lambda - 2\mu + \ell)\Gamma(\mu)}{\Gamma(\lambda - \mu + \ell)} \Phi_2$$

where  $\Phi_2$  is the same as given in (1.16).

**COROLLARY 2.2.** *In Theorem 2.2, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.*

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+1)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu} (1 + e^{i(\theta-\frac{\pi}{2})} \sin \theta)^{-\lambda} d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(1 + \lambda - 2\mu)\Gamma(1 + \frac{1}{2}\lambda)}{\Gamma(1 + \lambda)\Gamma(1 + \frac{1}{2}(\lambda - \mu))},$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+2)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu+1} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ 2 & \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{(\lambda - \mu + 1)}{(\lambda - 1)(\mu - 1)} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 2)}{\Gamma(\lambda - \mu + 2)} \left\{ 1 - \frac{\Gamma(1 + \lambda - \mu)\Gamma(\frac{1}{2}\lambda + \frac{1}{2})}{\Gamma(\lambda)\Gamma(\frac{1}{2}\lambda - \mu + \frac{3}{2})} \right\},$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+3)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu+2} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ 3 & \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = 2e^{i\frac{\pi}{2}\mu} \frac{(\lambda - \mu + 1)_2}{(\lambda - 2)_2(\mu - 2)_2} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 3)}{\Gamma(\lambda - \mu + 3)} \left\{ \frac{\Gamma(\frac{1}{2}\lambda)\Gamma(1 + \lambda - \mu)}{\Gamma(\lambda - 1)\Gamma(\frac{1}{2}\lambda - \mu + 2)} \right. \\ \left. - \frac{3\lambda + \mu - \lambda\mu - 3}{1 + \lambda - \mu} \right\}.$$

**THEOREM 2.3.** *For  $\ell \in \mathbb{N}$ ,  $\operatorname{Re}(\mu) > 0$  and  $\operatorname{Re}(\lambda - \mu + 1) > 0$ , the following result holds true.*

$$(2.3) \quad \int_0^{\frac{\pi}{2}} e^{i\frac{1}{2}(\lambda+\mu+1)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\frac{1}{2}(\lambda-\mu-1)} {}_2F_1 \left[ \begin{matrix} \lambda, & 1 \\ \ell & \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\frac{1}{2}(\lambda - \mu + 1))}{\Gamma(\frac{1}{2}(\lambda + \mu + 1))} \Phi_3,$$

where  $\Phi_3$  is the same as given in (1.17).

**COROLLARY 2.3.** *In Theorem 2.3, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.*



$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i\frac{1}{2}(\lambda+\mu+1)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\frac{1}{2}(\lambda-\mu-1)} \left(1 - \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta\right)^{-\lambda} d\theta \\ &= e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\frac{1}{2})\Gamma(\mu)\Gamma(\frac{1}{2}(\lambda-\mu+1))}{\Gamma(\frac{1}{2}(\lambda+1))\Gamma(\frac{1}{2}(\mu+1))}, \\ & \int_0^{\frac{\pi}{2}} e^{i\frac{(\lambda+\mu+1)}{2}\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\frac{1}{2}(\lambda-\mu-1)} {}_2F_1 \left[ \lambda, \frac{1}{2}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\mu} \frac{(\lambda+\mu-1)}{(\lambda-1)(\mu-1)} \frac{\Gamma(\mu)\Gamma(\frac{1}{2}(\lambda-\mu+1))}{\Gamma(\frac{1}{2}(\lambda+\mu+1))} \left\{ \frac{\sqrt{\pi}\Gamma(\frac{1}{2}(\lambda+\mu-1))}{\Gamma(\frac{1}{2}\lambda)\Gamma(\frac{1}{2}\mu)} - 1 \right\}, \\ & \int_0^{\frac{\pi}{2}} e^{i\frac{1}{2}(\lambda+\mu+1)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\frac{1}{2}(\lambda-\mu-1)} {}_2F_1 \left[ \lambda, \frac{1}{3}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\mu} \frac{2(\lambda+\mu-1)(\lambda+\mu-3)}{(\lambda-2)_2(\mu-2)_2} \frac{\Gamma(\mu)\Gamma(\frac{1}{2}(\lambda-\mu+1))}{\Gamma(\frac{1}{2}(\lambda+\mu+1))} \\ & \quad \times \left\{ \frac{\sqrt{\pi}\Gamma(\frac{1}{2}(\lambda+\mu-3))}{\Gamma(\frac{1}{2}(\lambda-1))\Gamma(\frac{1}{2}(\mu-1))} - \frac{\lambda\mu-\lambda-\mu+1}{\lambda+\mu-3} \right\}. \end{aligned}$$

THEOREM 2.4. For  $\ell \in \mathbb{N}$ ,  $\text{Re}(\lambda) > 0$  and  $\text{Re}(\mu - \lambda) > 0$ , the following result holds true.

$$(2.4) \quad \int_0^{\frac{\pi}{2}} e^{i\mu\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\mu-\lambda-1} {}_2F_1 \left[ 2\ell - \lambda - 1, \frac{1}{\ell}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta = e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\lambda)\Gamma(\mu-\lambda)}{\Gamma(\mu)} \Phi_4,$$

where  $\Phi_4$  is the same as given in (1.18).

COROLLARY 2.4. In Theorem 2.4, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i\mu\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\mu-\lambda-1} \left(1 - \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta\right)^{\lambda-1} d\theta \\ &= 2^{1-\mu} e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\frac{1}{2})\Gamma(\lambda)\Gamma(\mu-\lambda)}{\Gamma(\frac{1}{2}(\lambda+\mu))\Gamma(\frac{1}{2}(\mu-\lambda+1))}, \\ & \int_0^{\frac{\pi}{2}} e^{i\mu\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\mu-\lambda-1} {}_2F_1 \left[ 3 - \lambda, \frac{1}{2}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= 2e^{i\frac{\pi}{2}\lambda} \frac{(1-\mu)}{(1-\lambda)_2} \frac{\Gamma(\lambda)\Gamma(\mu-\lambda)}{\Gamma(\mu)} \left\{ \frac{\Gamma(\frac{1}{2}(\mu-1))\Gamma(\frac{1}{2}\mu)}{\Gamma(\frac{1}{2}(\lambda+\mu)-1)\Gamma(\frac{1}{2}(\mu-\lambda+1))} - 1 \right\}, \\ & \int_0^{\frac{\pi}{2}} e^{i\mu\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\mu-\lambda-1} {}_2F_1 \left[ 5 - \lambda, \frac{1}{3}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \end{aligned}$$

$$= 8e^{i\frac{\pi}{2}\lambda} \frac{(\mu-2)_2}{(\lambda-4)_4} \frac{\Gamma(\lambda)\Gamma(\mu-\lambda)}{\Gamma(\mu)}$$

$$\times \left\{ \frac{\Gamma(\frac{1}{2}(\mu-1))\Gamma(\frac{1}{2}(\mu-2))}{\Gamma(\frac{1}{2}(\lambda+\mu)-2)\Gamma(\frac{1}{2}(\mu-\lambda+1))} - \frac{5\lambda-\lambda^2+2\mu-10}{2(\mu-2)} \right\}.$$

THEOREM 2.5. For  $\ell \in \mathbb{N}$ ,  $\operatorname{Re}(\rho) > 0$  and  $\operatorname{Re}(\lambda - 2\rho + \ell) > 0$ , the following result holds true.

$$(2.5) \quad \int_0^{\frac{\pi}{2}} e^{i(\lambda-\rho+\ell)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\lambda-2\rho+\ell-1}$$

$$\times {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \lambda - \mu + \ell, & \ell \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta = e^{i\frac{\pi}{2}\rho} \frac{\Gamma(\rho)\Gamma(\lambda-2\rho+\ell)}{\Gamma(\lambda-\rho+\ell)} \Phi_5,$$

where  $\Phi_5$  is the same as given in (1.19).

COROLLARY 2.5. In Theorem 2.5, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\rho+1)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\lambda-2\rho} {}_2F_1 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \lambda - \mu + 1 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

$$= e^{i\frac{\pi}{2}\rho} \frac{\Gamma(\rho)\Gamma(1+\lambda-2\rho)\Gamma(1+\frac{1}{2}\lambda)\Gamma(1+\lambda-\mu)\Gamma(1+\frac{1}{2}\lambda-\mu-\rho)}{\Gamma(1+\lambda)\Gamma(1+\frac{1}{2}\lambda-\mu)\Gamma(1+\frac{1}{2}\lambda-\mu)\Gamma(1+\lambda-\mu-\rho)},$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\rho+2)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\lambda-2\rho+1} {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \lambda - \mu + 2, & 2 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

$$= e^{i\frac{\pi}{2}\rho} \frac{(1+\lambda-\mu)(1+\lambda-\rho)}{(\lambda-1)(\mu-1)(\rho-1)} \frac{\Gamma(\rho)\Gamma(2+\lambda-2\rho)}{\Gamma(\lambda-\rho+2)}$$

$$\times \left\{ \frac{\Gamma(\frac{1}{2}(\lambda+1))\Gamma(1+\lambda-\mu)\Gamma(1+\lambda-\rho)\Gamma(\frac{1}{2}\lambda-\mu-\rho+\frac{5}{2})}{\Gamma(\lambda)\Gamma(\frac{1}{2}\lambda-\rho+\frac{3}{2})\Gamma(\frac{1}{2}\lambda-\rho+\frac{3}{2})\Gamma(2+\lambda-\mu-\rho)} - 1 \right\}.$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\rho+3)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\lambda-2\rho+2} {}_3F_2 \left[ \begin{matrix} \lambda, & \rho, & \rho \\ \lambda - \mu + 3, & 3 \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

$$= 2e^{i\frac{\pi}{2}\rho} \frac{(\lambda-\mu+1)_2(\lambda-\rho+1)_2}{(\lambda-2)_2(\mu-2)_2(\rho-2)_2} \frac{\Gamma(\rho)\Gamma(\lambda-2\rho+3)}{\Gamma(\lambda-\rho+3)}$$

$$\times \left\{ \frac{\Gamma(\frac{1}{2}\lambda)\Gamma(1+\lambda-\mu)\Gamma(1+\lambda-\rho)\Gamma(\frac{1}{2}\lambda-\mu-\rho+4)}{\Gamma(\lambda-1)\Gamma(\frac{1}{2}\lambda-\mu+2)\Gamma(\frac{1}{2}\lambda-\rho+2)\Gamma(3+\lambda-\mu-\rho)} \right.$$

$$\left. - \frac{(\lambda-2)(\mu-2)(\rho-2)}{(\lambda-\mu+1)(\lambda-\rho+1)} - 1 \right\}.$$

THEOREM 2.6. For  $\ell \in \mathbb{N}$  and  $\operatorname{Re}(\rho) > 0$ , the following result holds true.

$$(2.6) \quad \int_0^{\frac{\pi}{2}} e^{i(2\rho-\ell+1)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\rho-\ell} {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \frac{1}{2}(\lambda+\mu+1), & \ell \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

$$= e^{i\frac{\pi}{2}\rho} \frac{\Gamma(\rho)\Gamma(\rho - \ell + 1)}{\Gamma(2\rho - \ell + 1)} \Phi_6,$$

where  $\Phi_6$  is the same as given in (1.20).

COROLLARY 2.6. In Theorem 2.6, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{2i\rho\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\rho-1} {}_2F_1 \left[ \begin{matrix} \lambda, & \mu \\ \frac{1}{2}(\lambda + \mu + 1) \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= 2^{1-2\rho} e^{i\frac{\pi}{2}\rho} \frac{\pi\Gamma(\rho)\Gamma(\frac{1}{2}(\lambda + \mu + 1))\Gamma(\rho - \frac{1}{2}(\lambda + \mu - 1))}{\Gamma(\frac{1}{2}(\lambda + 1))\Gamma(\frac{1}{2}(\mu + 1))\Gamma(\rho - \frac{1}{2}(\lambda - 1))\Gamma(\rho - \frac{1}{2}(\mu - 1))}, \end{aligned}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(2\rho-1)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\rho-2} {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \frac{1}{2}(\lambda + \mu + 1), & 2 \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\rho} \frac{(\lambda + \mu - 1)}{(\lambda - 1)(\mu - 1)} \frac{\Gamma(\rho)\Gamma(\rho - 1)}{\Gamma(2\rho - 1)} \\ &\quad \times \left\{ \frac{\sqrt{\pi}\Gamma(\rho - \frac{1}{2})\Gamma(\frac{1}{2}(\lambda + \mu - 1))\Gamma(\rho - \frac{1}{2}(\lambda + \mu - 1))}{\Gamma(\frac{1}{2}\lambda)\Gamma(\frac{1}{2}\mu)\Gamma(\rho - \frac{1}{2}\lambda)\Gamma(\rho - \frac{1}{2}\mu)} - 1 \right\}, \end{aligned}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(2\rho-2)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\rho-3} {}_3F_2 \left[ \begin{matrix} \lambda, & \mu, & 1 \\ \frac{1}{2}(\lambda + \mu + 1), & 3 \end{matrix}; \frac{1}{2}e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\rho} \frac{(2\rho - 3)(\lambda + \mu - 1)(\lambda + \mu - 3)}{(\rho - 1)(\lambda - 2)_2(\mu - 2)_2} \frac{\Gamma(\rho)\Gamma(\rho - 2)}{\Gamma(2\rho - 2)} \\ &\quad \times \left\{ \frac{\sqrt{\pi}\Gamma(\rho - \frac{3}{2})\Gamma(\frac{1}{2}(\lambda + \mu - 3))\Gamma(\rho - \frac{1}{2}(\lambda + \mu - 1))}{\Gamma(\frac{1}{2}(\lambda - 1))\Gamma(\frac{1}{2}(\mu - 1))\Gamma(\rho - \frac{1}{2}(\lambda + 1))\Gamma(\rho - \frac{1}{2}(\mu + 1))} \right. \\ &\quad \left. - \frac{(\lambda - 2)(\mu - 2)}{\lambda + \mu - 3} - 1 \right\}. \end{aligned}$$

THEOREM 2.7. For  $\ell \in \mathbb{N}$ ,  $\text{Re}(\lambda) > 0$  and  $\text{Re}(\rho - \lambda) > 0$ , the following result holds true.

$$\begin{aligned} (2.7) \quad & \int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 \left[ \begin{matrix} 2\ell - 1 - \lambda, & \mu, & 1 \\ 2\mu - \rho + 1, & \ell \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ &= e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\lambda)\Gamma(\rho - \lambda)}{\Gamma(\rho)} \Phi_7, \end{aligned}$$

where  $\Phi_7$  is the same as given in (1.21).

COROLLARY 2.7. In Theorem 2.7, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_2F_1 \left[ \begin{matrix} 1 - \lambda, & \mu \\ 2\mu - \rho + 1 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta$$

$$\begin{aligned}
 &= e^{i\frac{\pi}{2}\lambda} \frac{\pi 2^{1-2\mu} \Gamma(\lambda)\Gamma(\rho-\lambda)\Gamma(2\mu-\rho+1)}{\Gamma(\frac{1}{2}(\lambda+\rho))\Gamma(\mu+\frac{1}{2}(\lambda-\rho+1))\Gamma(\frac{1}{2}(1-\lambda+\rho))\Gamma(\mu+1-\frac{1}{2}(\lambda+\rho))}, \\
 &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 \left[ \begin{matrix} 3-\lambda, & \mu, & 1 \\ 2\mu-\rho+1, & 2 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\
 &= e^{i\frac{\pi}{2}\lambda} \frac{(\rho-1)(\rho-2\mu)}{(\lambda-2)_2(\mu-1)} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \\
 &\times \left\{ \frac{\pi 2^{3-2\mu} \Gamma(\rho-1)\Gamma(2\mu-\rho)}{\Gamma(\frac{1}{2}(\lambda+\rho)-1)\Gamma(\mu+\frac{1}{2}(\lambda-\rho-1))\Gamma(\frac{1}{2}(1-\lambda+\rho))\Gamma(\mu+1-\frac{1}{2}(\lambda+\rho))} - 1 \right\}, \\
 &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 \left[ \begin{matrix} 5-\lambda, & \mu, & 1 \\ 2\mu-\rho+1, & 3 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\
 &= e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \\
 &\times \left\{ \frac{\pi 2^{5-2\mu} \Gamma(\rho-2)\Gamma(2\mu-\rho+1)}{\Gamma(\frac{1}{2}(\lambda+\rho)-2)\Gamma(\mu+\frac{1}{2}(\lambda-\rho-3))\Gamma(\frac{1}{2}(1-\lambda+\rho))\Gamma(\mu+1-\frac{1}{2}(\lambda+\rho))} \right. \\
 &\quad \left. - \frac{(\lambda-2)(3-\lambda)(\mu-2)}{(\rho-2)(2\mu-\rho-1)} - 1 \right\}.
 \end{aligned}$$

**THEOREM 2.8.** For  $\ell \in \mathbb{N}$ ,  $\text{Re}(\lambda) > 0$  and  $\text{Re}(\rho - \lambda) > 0$ , the following result holds true.

$$\begin{aligned}
 (2.8) \quad &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 v \left[ \begin{matrix} -k+\ell-1, & \mu, & 1 \\ 1+\lambda+\mu-\rho-k, & \ell \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\
 &= e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \Phi_8,
 \end{aligned}$$

where  $\Phi_8$  is the same as given in (1.22).

**COROLLARY 2.8.** In Theorem 2.8, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\begin{aligned}
 &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_2F_1 \left[ \begin{matrix} -k, & \rho \\ 1+\lambda+\mu-\rho-k \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\
 &= e^{i\frac{\pi}{2}\lambda} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \frac{(\rho-\lambda)_k(\rho-\mu)_k}{(\rho)_k(\rho-\lambda-\mu)_k}, \\
 &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 \left[ \begin{matrix} -k+1, & \mu, & 1 \\ 1+\lambda+\mu-\rho-k, & 2 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\
 &= e^{i\frac{\pi}{2}\lambda} \frac{(1-\rho)(\rho-\lambda-\mu+k)}{k(1-\lambda)(1-\mu)} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \left\{ \frac{(\rho-\lambda)_k(\rho-\mu)_k}{(\rho)_k(\rho-\lambda-\mu+1)_k} - 1 \right\}, \\
 &\int_0^{\frac{\pi}{2}} e^{i\rho\theta} (\sin \theta)^{\lambda-1} (\cos \theta)^{\rho-\lambda-1} {}_3F_2 \left[ \begin{matrix} -k+2, & \mu, & 1 \\ 1+\lambda+\mu-\rho-k, & 3 \end{matrix}; e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta
 \end{aligned}$$

$$= 2e^{i\frac{\pi}{2}\lambda} \frac{(1-\rho)_2(\rho-\lambda-\mu+k)_2}{(1-\lambda)_2(1-\mu)_2} \frac{\Gamma(\lambda)\Gamma(\rho-\lambda)}{\Gamma(\rho)} \\ \times \left\{ \frac{(\rho-\lambda)_k(\rho-\mu)_k}{(\rho-2)_k(\rho-\lambda-\mu+2)_k} + \frac{k(\lambda-2)(\mu-2)}{(\rho-2)(\lambda+\mu-\rho-k-1)} - 1 \right\}.$$

THEOREM 2.9. For  $\ell \in \mathbb{N}$ ,  $\text{Re}(\mu) > 0$  and  $\text{Re}(\lambda - 2\mu + \ell) > 0$ , the following result holds true.

$$(2.9) \quad \int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+\ell)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu+\ell-1} \\ \times {}_4F_3 \left[ \begin{matrix} \lambda, & \frac{1}{2}\lambda + \ell + 1, & \rho, & 1 \\ \frac{1}{2}(\lambda + \ell - 1), & \lambda - \rho + \ell, & \ell \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + \ell)}{\Gamma(\lambda - \mu + \ell)} \Phi_9,$$

where  $\Phi_9$  is the same as given in (1.23).

COROLLARY 2.9. In Theorem 2.9, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+1)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu} {}_3F_2 \left[ \begin{matrix} \lambda, & \frac{1}{2}(\lambda + 2), & \rho \\ \frac{1}{2}\lambda, & \lambda - \rho + 1 \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(1 + \lambda - \rho)\Gamma(1 + \lambda - 2\mu)}{\Gamma(1 + \lambda)\Gamma(1 + \lambda - \mu - \rho)},$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+2)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-2\mu+1} \\ \times {}_4F_3 \left[ \begin{matrix} \lambda, & \frac{1}{2}(\lambda + 3), & \rho, & 1 \\ \frac{1}{2}(\lambda + 1), & \lambda - \rho + 2, & 2 \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{(1 + \lambda - \mu)(1 + \lambda - \rho)}{(\lambda + 1)(\mu - 1)(\rho - 1)} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 2)}{\Gamma(2 + \lambda - \mu)} \left\{ 1 - \frac{\Gamma(1 + \lambda - \mu)\Gamma(1 + \lambda - \rho)}{\Gamma(\lambda)\Gamma(2 + \lambda - \mu - \rho)} \right\}.$$

$$\int_0^{\frac{\pi}{2}} e^{i(\lambda-\mu+3)\theta} (\sin \theta)^{\mu-1} (\cos \theta)^{\lambda-\mu+2} \\ \times {}_4F_3 \left[ \begin{matrix} \lambda, & \frac{1}{2}(\lambda + 4), & \rho, & 1 \\ \frac{1}{2}(\lambda + 3), & \lambda - \rho + 3, & 3 \end{matrix}; -e^{i(\theta-\frac{\pi}{2})} \sin \theta \right] d\theta \\ = e^{i\frac{\pi}{2}\mu} \frac{2(1 + \lambda - \mu)_2(1 + \lambda - \rho)_2}{(\lambda + 2)(\lambda - 1)(\mu - 2)_2(\rho - 2)_2} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 3)}{\Gamma(3 + \lambda - \mu)} \\ \times \left\{ \frac{\Gamma(1 + \lambda - \mu)\Gamma(1 + \lambda - \rho)}{\Gamma(\lambda - 1)\Gamma(3 + \lambda - \mu - \rho)} + \frac{\lambda(\mu - 2)(\rho - 2)}{(1 + \lambda - \mu)(1 + \lambda - \rho)} - 1 \right\}.$$

THEOREM 2.10. For  $\ell \in \mathbb{N}$ ,  $\text{Re}(\mu) > 0$  and  $\text{Re}(\lambda - 2\rho + \ell) > 0$ , the following result holds true.

$$(2.10) \quad \int_0^{\frac{\pi}{2}} e^{i(\lambda-\rho+\ell)\theta} (\sin \theta)^{\rho-1} (\cos \theta)^{\lambda-2\rho+\ell-1}$$

$$\begin{aligned} & \times {}_5F_4 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + \ell + 1), \alpha, \beta, 1 \\ \frac{1}{2}(\lambda + \ell - 1), \lambda - \alpha + \ell, \lambda - \beta + \ell, \ell \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\rho} \frac{\Gamma(\rho)\Gamma(\lambda - 2\rho + \ell)}{\Gamma(\lambda - \rho + \ell)} \Phi_{10}, \end{aligned}$$

where  $\Phi_{10}$  is the same as given in (1.24).

COROLLARY 2.10. In Theorem 2.10, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \rho + 1)\theta} (\sin \theta)^{\rho - 1} (\cos \theta)^{\lambda - 2\rho} \\ & \quad \times {}_4F_3 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 2), \alpha, \beta \\ \frac{1}{2}\lambda, \lambda - \alpha + 1, \lambda - \beta + 1 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\rho} \frac{\Gamma(\rho)\Gamma(\lambda - 2\rho + 1)\Gamma(1 + \lambda - \alpha)\Gamma(1 + \lambda - \beta)\Gamma(1 + \lambda - \rho - \alpha - \beta)}{\Gamma(1 + \lambda)\Gamma(1 + \lambda - \alpha - \beta)\Gamma(1 + \lambda - \rho - \beta)\Gamma(1 + \lambda - \rho - \alpha)}. \end{aligned}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \rho + 2)\theta} (\sin \theta)^{\rho - 1} (\cos \theta)^{\lambda - 2\rho + 1} \\ & \quad \times {}_5F_4 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 3), \alpha, \beta, 1 \\ \frac{1}{2}(\lambda + 1), \lambda - \alpha + 2, \lambda - \beta + 2, 2 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\rho} \frac{(1 + \lambda - \rho)(1 + \lambda - \alpha)(1 + \lambda - \beta)}{(1 + \lambda)(\rho - 1)(\alpha - 1)(\beta - 1)} \frac{\Gamma(\rho)\Gamma(\lambda - 2\rho + 2)}{\Gamma(\lambda - \rho + 2)} \\ & \quad \times \left\{ \frac{\Gamma(1 + \lambda - \rho)\Gamma(1 + \lambda - \alpha)\Gamma(1 + \lambda - \beta)\Gamma(3 + \lambda - \rho - \alpha - \beta)}{\Gamma(\lambda)\Gamma(2 + \lambda - \alpha - \beta)\Gamma(2 + \lambda - \rho - \beta)\Gamma(2 + \lambda - \rho - \alpha)} - 1 \right\}. \end{aligned}$$

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \rho + 3)\theta} (\sin \theta)^{\rho - 1} (\cos \theta)^{\lambda - 2\rho + 2} \\ & \quad \times {}_5F_4 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 4), \alpha, \beta, 1 \\ \frac{1}{2}(\lambda + 2), \lambda - \alpha + 3, \lambda - \beta + 3, 3 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = 2e^{i\frac{\pi}{2}\rho} \frac{(1 + \lambda - \rho)_2(1 + \lambda - \alpha)_2(1 + \lambda - \beta)_2}{(\lambda - 1)(\lambda + 2)(\rho - 2)_2(\alpha - 2)_2(\beta - 2)_2} \frac{\Gamma(\rho)\Gamma(\lambda - 2\rho + 3)}{\Gamma(\lambda - \rho + 3)} \\ & \quad \times \left\{ \frac{\Gamma(1 + \lambda - \rho)\Gamma(1 + \lambda - \alpha)\Gamma(1 + \lambda - \beta)\Gamma(5 + \lambda - \rho - \alpha - \beta)}{\Gamma(\lambda - 1)\Gamma(3 + \lambda - \alpha - \beta)\Gamma(3 + \lambda - \rho - \beta)\Gamma(3 + \lambda - \rho - \alpha)} \right. \\ & \quad \left. - \frac{\lambda(\rho - 2)(\alpha - 2)(\beta - 2)}{(1 + \lambda - \rho)(1 + \lambda - \alpha)(1 + \lambda - \beta)} \right\}. \end{aligned}$$

THEOREM 2.11. For  $\ell \in \mathbb{N}$ ,  $\operatorname{Re}(\mu) > 0$  and  $\operatorname{Re}(\lambda - 2\mu + \ell) > 0$ , the following result holds true.

$$\begin{aligned} (2.11) \quad & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \mu + \ell)\theta} (\sin \theta)^{\mu - 1} (\cos \theta)^{\lambda - 2\mu + \ell - 1} \\ & \quad \times {}_7F_6 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + \ell + 1), \rho, \alpha, A_1, A_2, 1 \\ \frac{1}{2}(\lambda + \ell - 1), \lambda - \rho + \ell, \lambda - \alpha + \ell, B_1, B_2, \ell \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \end{aligned}$$

$$= e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + \ell)}{\Gamma(\lambda - \mu + \ell)} \Phi_{11},$$

where  $A_1, A_2, B_1, B_2$  and  $\Phi_{11}$  are the same as given in (1.25).

COROLLARY 2.11. In Theorem 2.11, if we take  $\ell = 1, 2, 3$ , we respectively get the following integrals.

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \mu + 1)\theta} (\sin \theta)^{\mu - 1} (\cos \theta)^{\lambda - 2\mu} \\ & \times {}_6F_5 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 2), \rho, \alpha, A_4, -k \\ \frac{1}{2}\lambda, 1 + \lambda - \rho, 1 + \lambda - \alpha, B_5, B_2 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\mu} \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 1)}{\Gamma(\lambda - \mu + 1)} \frac{(1 + \lambda)_k (\lambda - \mu - \rho + 1)_k}{(1 + \lambda - \mu)_k (1 + \lambda - \rho)_k} \\ & \quad \times \frac{(\lambda - \mu - \alpha + 1)_k (\lambda - \rho - \alpha + 1)_k}{(1 + \lambda - \alpha)_k (1 + \lambda - \mu - \rho - \alpha)_k} \end{aligned}$$

where  $A_4 = 2\lambda - \mu - \rho - \alpha + k + 1$ ,  $B_5 = \mu + \rho + \alpha - \lambda - k$ , and  $B_2 = \lambda + k + 1$ .

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \mu + 2)\theta} (\sin \theta)^{\mu - 1} (\cos \theta)^{\lambda - 2\mu + 1} \\ & \times {}_7F_6 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 3), \rho, \alpha, A_5, 1 - k, 1 \\ \frac{1}{2}(\lambda + 1), 1 + \lambda - \rho, 1 + \lambda - \alpha, B_6, B_2, 2 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\mu} \frac{(\mu - \lambda - 1)(\rho - \lambda - 1)(\alpha - \lambda - 1)(k + 2 + \lambda - \mu - \rho - \alpha)(\lambda + k)}{k(1 + \lambda)(1 - \mu)(1 - \rho)(1 - \alpha)(\mu + \rho + \alpha - 2\lambda - 2 - k)} \\ & \quad \times \frac{\Gamma(\mu)\Gamma(\lambda - 2\mu + 1)}{\Gamma(\lambda - \mu + 1)} \Omega \end{aligned}$$

where  $A_5 = 2\lambda - \mu - \rho - \alpha + k + 3$ ,  $B_6 = \mu + \rho + \alpha - \lambda - k - 1$ ,  $B_2 = \lambda + k + 1$ , and  $\Omega = \left\{ 1 - \frac{(\lambda)_k (\lambda - \mu - \rho + 2)_k (\lambda - \mu - \alpha + 2)_k (\lambda - \rho - \alpha + 2)_k}{(1 + \lambda - \mu)_k (1 + \lambda - \rho)_k (1 + \lambda - \alpha)_k (3 + \lambda - \mu - \rho - \alpha)_k} \right\}$ .

$$\begin{aligned} & \int_0^{\frac{\pi}{2}} e^{i(\lambda - \mu + 3)\theta} (\sin \theta)^{\mu - 1} (\cos \theta)^{\lambda - 2\mu + 2} \\ & \times {}_7F_6 \left[ \begin{matrix} \lambda, \frac{1}{2}(\lambda + 4), \rho, \alpha, A_6, 2 - k, 1 \\ \frac{1}{2}(\lambda + 2), 3 + \lambda - \rho, 3 + \lambda - \alpha, B_7, B_2, 3 \end{matrix}; e^{i(\theta - \frac{\pi}{2})} \sin \theta \right] d\theta \\ & = e^{i\frac{\pi}{2}\mu} \frac{(\lambda - 2)(\mu - \lambda - 2)_2 (\rho - \lambda - 2)_2 (d - \lambda - 2)_2 (-\lambda - k)_2}{(\lambda + 2)(1 - \lambda)_2 (1 - \mu)_2 (1 - \rho)_2 (1 - \alpha)_2 (k - 1)_2} \\ & \quad \times \frac{(3 + k + \lambda - \mu - \rho - \alpha)_2 \Gamma(\mu)\Gamma(\lambda - 2\mu + 3)}{(\mu + \rho + \alpha - 2\lambda - 4 - k)_2 \Gamma(\lambda - \mu + 2)} \\ & \quad \left\{ \frac{(\lambda - 1)_k (\lambda - \mu - \rho + 3)_k (\lambda - \mu - \alpha + 3)_k (\lambda - \rho - \alpha + 3)_k}{(\lambda - \mu + 1)_k (\lambda - \rho + 1)_k (\lambda - \alpha + 1)_k (\lambda - \mu - \rho - \alpha + 5)_k} \right. \\ & \quad \left. + \frac{k\lambda(\mu - 2)(\rho - 2)(\alpha - 2)(2\lambda - \mu - \rho + k + 3)}{(\lambda - \mu + 1)(\lambda - \rho + 1)(\lambda - \alpha + 1)(\mu + \rho + \alpha - \lambda - k - 4)(k + \lambda - 1)} - 1 \right\} \end{aligned}$$

where  $A_6 = 2\lambda - \mu - \rho - \alpha + k + 5$ ,  $B_7 = \mu + \rho + \alpha - \lambda - k - 2$ , and  $B_2 = \lambda + k + 1$

**Conclusion Remark.** We evaluated in terms of gamma function, a new class of integrals due to MacRobert involving generalized hypergeometric functions, by employing very recently obtained summation theorems by Masjed-Jamei and Koepf also gave new, interesting and elementary integrals as special cases of our main findings.

### References

1. G. E. Andrews, R. Askey, R. Roy, *In Encyclopedia of Mathematics and Its Applications, Special Functions* **71**, Cambridge University Press, Cambridge, 1999.
2. G. Arfken, *Mathematical Methods for Physicists*, Academic Press, New York, NY, USA, 1985.
3. W. N. Bailey, *Generalized Hypergeometric Series*, Cambridge University Press, Cambridge, 1935; Reprinted by Stechert-Hafner, New York, 1964.
4. Y. S. Kim, M. A. Rakha, A. K. Rathie, *Extensions of certain classical summation theorems for the series  ${}_2F_1$ ,  ${}_3F_2$  and  ${}_4F_3$  with applications in Ramanujan's summations*, Int. J. Math. Math. Sci. **2010** (2010), 309503.
5. W. Koepf, *Hypergeometric Summation: An Algorithmic Approach to Summation and Special Function Identities*, 2<sup>nd</sup> ed., Springer, London, 2014.
6. J. L. Lavoie, F. Grondin, A. K. Rathie, *Generalizations of Watson's theorem on the sum of a  ${}_3F_2$* , Indian J. Math. **34** (1992), 23–32.
7. ———, *Generalizations of Whipple's theorem on the sum of a  ${}_3F_2$* , J. Comput. Appl. Math. **72** (1996), 293–300.
8. J. L. Lavoie, F. Grondin, A. K. Rathie, K. Arora, *Generalizations of Dixon's theorem on the sum of a  ${}_3F_2(1)$* , Math. Comp. **62** (1994), 267–276.
9. T. M. MacRobert, *Beta functions formulae and integrals involving E-functions*, Math. Ann. **52** (1960-61), 451–452.
10. M. Masjed-Jamei, W. Koepf, *Some summation theorems for generalized hypergeometric functions*, Axioms **7** (2018), 38.
11. A. M. Mathai, R. K. Saxena, *Generalized Hypergeometric Functions with Applications in Statistics and Physical Sciences*, Lect. Notes Math. **348**, Springer, Berlin–Heidelberg–New York, USA, 1973.
12. A. F. Nikiforov, V. B. Uvarov, *Special Functions of Mathematical Physics. A Unified Introduction with Applications*, Birkhauser, Basel, 1988.
13. A. P. Prudnikov, Yu. A. Brychkov, O. I. Marichev, *More Special Functions*, Integrals and Series **3**, Gordon and Breach, Amsterdam, 1990.
14. E. D. Rainville, *Special Functions*, The Macmillan Company, New York, 1960; Reprinted by Chelsea, New York, 1971.
15. L. J. Slater, *Confluent Hypergeometric Functions*, Cambridge University Press, Cambridge, 1960.
16. ———, *Generalized Hypergeometric Functions*, Cambridge University Press, Cambridge, 1966.
17. H. M. Srivastava, J. Choi, *Zeta and q-zeta Functions and Associated Series and Integrals*, Elsevier, Amsterdam, London and New York, 2012.

Department of Mathematics, Manipal Institute of Technology  
 Manipal Academy of Higher Education, Manipal, Karnataka  
 India  
 prathima.amrutharaj@manipal.edu

(Received 07 11 2022)

Vedant College of Engineering and Technology  
 Rajasthan Technical University Bundi, Rajasthan  
 India  
 arjunkumarrathie@gmail.com